
10
3

10
2

10
1

10
0

Temperature

88

90

92

94

Te
st

 A
cc

ur
ac

y

10
3

10
2

10
1

10
0

Temperature

0.3

0.2

Te
st

 L
og

 L
ik

el
ih

oo
d

10
3

10
2

10
1

10
0

Temperature

0.02

0.04

0.06

Te
st

 E
C

E

10
3

10
2

10
1

10
0

Temperature

88

90

92

Te
st

 A
cc

ur
ac

y

10
3

10
2

10
1

10
0

Temperature

0.35

0.30

0.25

0.20

Te
st

 L
og

 L
ik

el
ih

oo
d

10
3

10
2

10
1

10
0

Temperature

0.02

0.04

0.06

Te
st

 E
C

E

Standard protocol (no test aug)
Train augmentation
No train augmentation

Average probs (Ktest = 8)
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